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No. of Questions/uwi Y wwar : 120
Time : 2 Hours] - [Fall Marks : 360
T : 29 [qurts® : 360

Instruction :
Fdw This paper consists of Objective Type Questions and is divided into
Two Sections (I & IT) as under :

ﬂgﬂﬁ-ﬁ?@ﬁﬁﬂﬁﬂtﬂﬁfﬁhﬁﬁﬁﬂﬁﬂ&ﬂ}ﬁﬂ'ﬁﬁt
s % 49 aftla & -

(a) Section—I Consists of 104 Objective Type Questions.

wve—] 4 104 eRwed wE R |

(b) Section—II Consists of 16 Objective Tvpe Questions on (I) English
Language and (II) Hindi Language.
gus—II ﬁlﬁﬂgﬁﬂum@@ﬂwsﬁtaﬂﬁ#rm%
_ T W maha 2

A candidate is required to attempt as many questions as he/she can of
Section-I, and questions of ANY ONE of the TWO Language papers
(I) English OR (II) Hindi in Section-II.

i § aifar & R wve-1 aon wor-10 & (1) st @1 (1) et v o
& it vt 9 v

(1) (Turn Over)
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Note :

(1) Each question carries 3 (Three) marks. One mark will be deducted
for each incorrect answer. Zero mark will be awarded for each
unattempted question. o
T Y 3 (F) 3R w2 | TRIE ToR I & 070 0 4w B
SR | Wed® ITARG T & WS & |

(2) If more than one alternative answers seem to be approximate o the
correct answer, choose the closest one.

aft v s IW 98 I % e vl @, @ fwean v o
g1

(3) Each question is followed by Four alternative answers (1), (2), (3}
and (4). Only one of these answers is correct. Select the correct
answer and record it against the relevant question number by darkening
the circle with Ball point Pen on the Answer Sheet, as per the guide-

lines.

Tede WE % 9N A5 I gI ¥ R (1), (2), (3) T (4) w
| gatm w1 e @ ¥ o @ I wd R | g I 0 99 Fifw o
36 Ghd ! IT-UF W A WA & v P e qu (i)
%1 AT WET302 9 Z1 Fieh H0 e |

SECTION—I
wus—1

The difference between a statistical average based on the tatal population and
the one based on a sample is known as ;

(1) Standard Error (2) Mean Difference
(3) Sampling Error (4) Mean Deviation

QU gafe W st wiferh wes aun ey o smaf@ e & 9 & wen
4T FEd £ 7

(1) ums IR (2) wea Fer
(3) wio=aa e (4) ura fagem

(2) (Continu-u"
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If a researcher conducts a research on finding out which administr&ivc style

contributes more to institutional effectiveness. This will be an example of
which research ?

(1) Basic Research (2) Action Research
(3) Applied Research (4) Fundamental Research

mmﬂmm%ﬁw:ﬂummmm&mmm
wmﬁa;ﬂr—ﬁmﬁwmﬁt,a’tuuﬁaam:wiﬂn?

(1) denga iy (2) wralem sa
(3) ¥g% oY H (4) Afow A=
Which of the following is NOT a measure of dispersion ?

(1) Range (2) Mode

(3) Mean Deviation (4) Standard Deviation
FaidaR o s i g

(1) 7w | ) 77

(3) wen forem (4) v freem

In which one of the methods the 'existing knowledge' is used to draw conclu-
sions ? '

(1) Inductive reasoning method (2) Deductive reasoning method

(3) Survey method (4) Positivistic method

Freifefian & & fom Rt 3 adam w0 ) Pread et fore s v s 7
(1) smrETenss adhon fafy (2) P adm fafy

(3) wdam fafy (4) v fafy

(3) (Turn Over)
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5. Which of the foilowing statements is true for reliability and validity of a mes-
suring instrument ?

(1} Reliable testis also valid
(2) Validity does ot ensure raitahitity
i3) Walidiny and seliahility are not related
(1) Valid est must be reliable
Fﬂﬁﬁﬁiﬁﬁﬁﬁﬂﬂtﬁmﬁmﬂﬁmﬂi%ﬁﬁqﬁﬁaﬁm?ﬂgﬁ% :
1y Frraedm ghym 3g @ 7 2
(2) A, e R R
(3) dvm qwn remwiad w71
(4) v e fiEads @w A
& Which ofthe following is the definitive charactenistic of qualitative research /
(1) Researchet's subiective reflectivity
(2) Use of Interview as the major technique
(3) Ambiguity in generalizations
(4) Converient sampling
it & ToweRs Ty A Fesmen 1 N R
(1) whemwal = sl e
(2) WIEHER ) YT G e THE
(3w I

-[4';1 giaﬂm:amﬁaﬁ

(4) (Continu::
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A measure of central tandenéy that is the most frequently occurring value in
the data set is called the

(1) Mode (2) Range

(3) Mean Deviation (4) Standard Deviation

& vgR = ar qm, o A6 & wyE i wad wftew TR AR e ued v d

(1) sge= (2) e

(3) me fquem (4) v Rreem

Phenomenological Research is a

(1) Qualitative Basenrih (2) Quantitative Research

(3) Trend Research (4) Descriptive Research

TS HFEUN O } ‘s

(1) Tomers SFeum (2) WA FFE

(3) ¥R IFFHIH (4) TR AFEuH

The process of assigning numerals to objects according to some rules is
. termed as

(1) Observation _ | (2) Measurement

(3) Analysis o (4) Statistics

o fran % orgam Tegal ® o 23 9 v ) w0 o

(1) ot - 2) T

(3) R | (4) wifeTH

(5) (Turn QOver)
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10.

11.

12

While conducting experimental research a researcher should control the
{1~) Independent variables (2) Dependent variables

(3) Allthe existing variables (4) Extraneous variables
Slien ST & A G s R b wen i

(1) & (2) Fntr

(3) wh gt w (4) AqEsT T

Which of the following types of studies resuits in findings which could not b
generalized to other situations ?

(1) Descriptive (2) Historical
(3) Experimental (4) Causal Comparative
freffaa Yr & araa § 3, vom sahiga T e o w € 7
(1) =T (2) Ve

(3) T {4) FE G
Test-retest is a method to determine

(1) Validity (2) Reliability

(3) Feasibility (4) Objectivity

- G o Ruife faf R, e go — 7 %@ 2

(1) 3= (2) favewdtaas

(3) (4) T=gfEm

(6) (Continued
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13. The range of coefficient of correlation between two variables is

i4.

15,

3 | F A9 geway #1 wn d
(1) 0 to +1 (2) +1 to -1
(3) 0 to -1 @115

The two most important characteristics of a standardized test are

(1) Objectivity and reliability (2) Reliability and validity
(3) Reliability and usability | (4) Practicability and usability
T U T % Q) we Hgeay faar §

(1) i o Rrawian (2) favawiman ok dvm
(3) fevawrm sk ok (4) amiwm 3Ry
Likert Method is used to prepare an |
(1) Aptithde Test (2) Attitude Test

(3) Ability Tl:.st- (4) Achievement Test
ﬁaﬁﬁﬁmm — % &R 7 & g e m @

(1) s whem (2) sfraf v

(3) dvam whem (4) et ghgw

(7) (Turn Over)
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16.

i7.

18.

Which of the following is an example of a qualitative research ?

(1) Descriptive survey (2) Experimental study
(3) ExPostFactv study (4) Casestudy
ﬁﬂﬁﬁﬁmmmﬂﬁm“i% ?
(1) avimnd Fae | (2) iR AewEd
(3) @ T TR A (4) QAT
The highest level of human need according to Maslow is
(1) Safety (2) Self-esteem
(3) Self-actualization (4) Thirst
el ¥ SET, WA AR F IS W R
(1) gun (2) AA-FHAHA

- (3) IR (4) =™
The conditioned stimulus in Paviov's experiment was
(1) Food
(2) Saliva

(3) Soundofbell

(4) Sound of bell immediately before food
e % A # gEita G A0

(1) WA

(2) Wm

(3) W& H AEH

(4) WA & T A FEH

(8) (Continu
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19. Choose the pair among the following which s not correct :

20.

1) Divﬂrgﬁm(gnking.& Memory-—- Gui(l?n}r d
{2) Spatial intelligence & Memory—— Chivdiiés
(3} Primary mental abilities inciude Memory factor—Thurstone
(4) G-factor & S-factor— Sijciriian
e 4 3 e T 7 & 38w

(A) (B)
(1) st famm 3 gfa - - frod
(2) =l afg 3 wf— sk
(3) wrufirs ale Argad & siwta Wi FRE— .
4) A-+1F 7 W-FE—— - A

When a baby tries to search for a toy hidden from him, then this reflects
(1) Development of 'object permanence’ |

(2) Development of 'ego-centrism'

(3) Development of'intuitive thinking'

(4) Development of 'logical thinking'

va geR g Reel 9t firg @R &1 s w6 @ R 9 78 el R @
(1) ‘wg-vofde’ & Rem & .

(2) ‘E-¥=a & em

(3) ‘oria-wq faea & fae w0

(4) ‘afde faem & P @

(9) (Turn Qver)
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21. 'Aha experience in learning is

22.

(1) Classical conditioning theory
(2} Operant conditioning theory
(3) Connectionist or Bond theory
(4) Insight theory

arferm i “amr mgﬁamrﬁm 2

(1) el srEe T H

(2) e FEA fagra B

(3) wRER a1 aw g A

(4) g g R

Growthis |

(1) Increase in the size of the head.
(2) Increase in vocabulary.

(2) Increase in grasping capacity.

(4) Increase inlogical muitiplication.

L
(1) for 3 e 7GR |

(2) Tag-4veR # 7l @ |
(3) o i g § Sged R |
(4) e fra % sQiwd 2 )

(10)

associated with

(Continue.
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24,
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Which law of iearning given by E. L. Thorndike indicates trial and error
learning?

(1) Law of Exercise (2) Law of Multiple Response
(3) Law of Mental set (4) Law of Analogy

aHeT T 3 1 firm ¥ e fraw/Rigra & st ' -
eispudl I ¢d 3R T dg

(1) e = fam/frgea (2) axsriFa w e /Ry
(3) vt = Pram/Rgra (4) wwgwran = frm/Rrgra

According to one principle of development, the correct sequence of develop-
ment is

(1) Feet— Trunk - Head (2) Head - Feet - Trunk
(3) Head = Trunk ~ Feet (4) Trunk —~Feet - Head
e & o Rigr & srar, R w1 wi w2

(1) 9O - g3~ fn 2) R~ v - g3
(G) fR-wg—>am @ BTm~ fin

The most appropriate Intelligence test for measuring Intelligence of those
young children whose language is not developed is .

(1) Individual verbal test of Intelligence
(2) Group verbal test of Intelligence

(3) Group non-verbal test of Intelligence
(4) Performance test of Intelligence

ﬁqﬁ%aﬁmmmww!ﬂg&m%mmmﬁ
ltgor &

(1) Jafrs mies 3fg vhaw

(2) aqg wmis gy vhaw

(3 e srmfRs 9fy whem

(4) o8 % w1 warer oligo

(11) (Turn Over)
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16, Sociometry is used to study
(1} Social status of students
{2) Sceic-economic stafus of siudents of a class
(3) Social inferaciions 2mong sidents of a class
4 Progress of a society
gt o guam R T 2

(1) mﬂﬂﬁmuﬁﬁmmmﬁ

(7) faxh men & frenfial A s waftafs 1 amam & A

(3) fﬂ:ﬁ?%ﬁm%ﬁ'ﬁmﬁﬁ%ﬂﬂmﬂﬁﬂ;aﬁﬂﬁmﬁ%waﬁ

(4) Mmﬁrwﬁiﬁmmﬁﬁ

E

27, The most appropriate method to study 1he seguential development of i

individual is
(1} idevelopmental method (2) Experimenial method
3 inrmspf:clinnmaﬂmd {4y Survey method

fﬁﬁ@'ﬂﬁ%mﬁm%mﬁm&%&w& g T4 2

(1 fawmer G (2% warrEs b
(3) wadR el {4y wi=ww Ak

(12)

(Gt !
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28. Which of the following is not true ?

29.

(1) Nature of Personality is dynamic.

{2) Personality cncompasses both physical and psychologicai gualities
(3) Personality is the result of environment only.

(4) Personality determines characteristic behaviour of the individuais.
frafafie @ & wil W A R 7

(1) e 6 5 e &

(2) =afthea & v @@ wdifies 2 veR & o wlva B ¥

(3) =afine daw arrnr H qhona §

(4) suftes, s % fafire szew = Pt Fw |

An example of Biiateral transfer of learning is

(1) Writing with left hand after learning to write with the right hand.
(2) Riding a motortycle after learning to ride a bicycle.

(3) Solving tough problems of mathematics after learning mathematical
formulae.

(4) Typing on computer after learning to type on typewriter.

feedes ToHTT O TR B |

(1) =d 2 & foren ded & arg 9 ow 3 fremn |

(2) wusfse Ter iy & AR AR T A |

(3) niwdia gEt =t dEd w1 39 FfA e gaE = = 8 w5 )
(4) TETUEH W IHY T MG F AE FEGR T IRY FA |

(13) (Turn Over)
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30.

31.

When an adolescent boy starts whistling while walking vn a lonely road in
dark night, then this is an example of

(1) Projection (2) Reaction formation
(3) Rationalization (4) Regression

o9 ek TR, 99f T o g wee T T g2 HE a9 I 2 9 98 U I
2

(1) waqu (2) wifram
(3) grEwm = (4) sferms 1
Choose the correct option

(1) Meaningless content is-fﬂrgunm more.

(2) Meaningful content is forgotten more.

(3) Meaningless and meaningful content both are equally forgotten.

(4) Meaningful content followed by meaningless content is forgotten less.

ﬁﬁmwwﬁ:

(1) e (9rem) amwft w1 o afts Bl 2

(2) Hﬁm(mjmmﬁmu&mﬁm%i
(3) fds 3 wrds wmft =1 fremn gvm (FoR) A 2
(4) mm%mﬁmmwmm@mg;

(14) {Continued;



18P1247123 (1)

32. Who is 'Trait theorist' of personality ?

(1) W.H. Sheldon (2) G.W.Allport
(3) E.Kretschmer (4) 5. Freud

78 < =afte & ‘s g’ 4

(1 W@:W- (2) . Ty, IR
(3) % ¥R (4) 8. FE

33. Aim of guidance is not to
(1) Helpindividual in his task.
(2) Enablean individual to know his own abilities.
(3) Enable individual to adjust to his environment.
(4) Enable individual to solve his own prﬁblm:s.
i = 3w 7 2
(1) faht =afs # 305 <1 & 7eg a0 |
(2) =afts = gan T Red 9 e aame @ grEE @ |
(3) =afeh it vEw s REe a8 AW A & U GHEeE S |
(4) =afts B I TR 1 @E YR 0 I T4= |

(15) (Turn Over)
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34. Counselling in which the client is in the central role and the counsellor 15 it
the passive tole, i

(1) Directive counselling

(2) Non-directive counseliing

(3) Eclectic counselling

{4) Both Directive and Noa-directive counseliing

ELCIvL {mﬁ]ﬁaﬁa@wﬁamq\fﬂmﬁﬁmammﬁmﬂm 2,
a7 8

(4) Pmress 1 st O ITE
35. Who proposed Body-kinesthetic intelligence 7
(1} L.L.Thurstone (23 1. P. Guilford
. (3) E.L.Thomdike {4) Howard Gardne:

vi-nferef) gfg # wiiees S @ ?

(1) T &, qdH (2) 3, i, frend
(3) % . UHETTE (4) wrard ma

(16} (Coniings
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36. Thematic Apperception test is used to assess

(1) Personality (2) Creativity

(3) Intelligence - (4) Aptitude

Srafis SfEe hwvr 1 I g 2

(1) =afea F atteerm & (2) gaeiier & stwem-d
3) e amm A (4) v & arferera &

37. Creativity in students can be fostered by

(1) Comparative evaluation of students in class

(2) Criticism of students’ work

(3) Opportunities for spontaneous activities in class

(4) Maintaining strict discipline in class

frerfial & gorTRa ® agrEn O T R

(1) s ¥ et @ g [ =

(2) Frenfat & sl 6 e W

(3) & il ) w-egd it & ferd v yoR W
(4) T ¥ TS FFEA TR @ -

(17) {Turn Over)
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38. Which of the following is not a characteristic of well-adjusted individual *

(1) Obeying social norms (2) Efficiency in work
(3) Negativism (4) Satisfaction with oneself
Prefrfe 3 S W geriie safe 6 R 76 @ 7
(1) s HHE F e (2) =1 & yuEsied
(3) TR (4) T A A wqd
39, Brainstorming is good to enhance
(1) Academic achievement (2) Mamematiclal aptitude
(3) Readingability (4) Creativity
yferes STy (FTRIHAT) 3 Bl 2
() MmsmRRTwREIE  (2) " afigmn 5 2R & ol
(3) A G F TgW ¥ ford (4) goeiiera = W ¥ Tl
40. Who said that 'Education is the dynamic side of philosophy' ?
(1) Plato, | (2) Aristotle
(3) JohnDewey (4) Adams

ﬁmgﬂqmwmi'mm
(1) = (2) W,
(3) % &eh 4) ©=

(18) : (Continued':;
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What is ultimate truth according to idealism ?

{1) Matter (2) Nature (3) Soul (4) God
HIEHETE & SER AW e w7

(1) werd (2) i (3) stem @) f=r
Who emphasised on "Transmission of acquired traits' ?

(1) Lamarck (2) Bemnard Shaw

(3) Nunn (4) Herbert Spencer
forat arfet Tqoit & weameaTor ot @@ fa 7

(1) A (2) =ig ol

@3) W (4) & ww
Pragmatism emphasises on

(1) Universal Truth (2) Changeable Truth

(3) Physical Truth (4) Spiritual Truth
SAISETE de oar R |

(1) W& ¥ N (2) YRadTefier 9

(3) st o/ | (4) smearfdrs o W
Montessorie Method is for

(1) Child Education (2) Adolescent Education
(3) Adult Education (4) Infant Education
wreEd someh &

(1) w1 fven ¥g (2) feuir fven ¥

(3) e faam 29 (4) frg fren &g

(19) (Turn Over)
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43.

46.

Hindi-Hindu-Hindustan slogan was given by

(1) Gandhiji (2) Tagore ji

(3) MalaviyalJi (4) Aurobindo Ji
fdt-firg - feggars o fen T

(1) i sh g (2) TR gm
(3) wrEE g (4) e S g

Zakir Hussain was not a member of

(1) University Grants Commission

(2) Central Advisory Board of Education
(3) Central Hindi Teaching Division

(4} Rural Higher Education Council
TR g8 gee T 2

(1) fafrerem s s

(2) ¥ fra FemeER TR

(3) ¥ e P o

(4) mfv 3= fren ofteg

(20) (Can
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Language has the following components

(1) Form, Pragmatics and Use

(2) Phonology, Morphology, Syntax and Use
(3) Form, Content and Use

(4) Semantics, Prosody, Pragmatics

M & e o §

(1) =, sefrn fam @ v

(2) @ R, sefm, e ReR @ s
(3) W, fawrag @ 3w

@) wd faw, 3= fm @ andfien fagw
American Sign Language is an example of

(1) Verbal Communication Syxtﬁn .

(2) Acombination of Verbal and Non-verbal Communication System

(3) Non-Verbal Communication System

(4) Chemical Communication System |
m&mmmmmt

(1) wies Tewor vgf

(2) MR T SR wheor R W ww W
(3) iR woivw ogfy

(4) vER® we vghy

.{21 ) | (Turn Over)
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agi

50.

Diphthong is
(1) Combination of Consonants
(2) Combination of Vowels

(3) Combination of Syllables

(4) Combination of Consonants and Syllables
figeri 3

(1) ¥qFH=H

(2) FHE

(3) daH T

(4) &% @ T

How many articles are therein PWD Act, 19957
frores 9 iffvam, 1995 % F1 feo sg=ee & 7

(1) 70 (2) 74 (3) 72

. Which year was UNICEF established ?

gfie for i wenfa foran a7

(1) 1944 @) 1945 (3) 1946

(22)

(4) 76

(4) 1947

(Continued)
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53.

54.
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What is the full form of TEACCH ?

(1) Treatment and Education of Autistic and Communication Handicapped
Children : -

(2) Treatment and Education of Asthmatic and Communication Handicapped
Children

(3) Tactful and Energetic Autistic and Communication Haudjcﬁﬁped Children
(4) Tactful and Energetic Autistic and Cooperative Handicapped Children
AdvRhAwmmpismmne?

(1) 2R U8 T 3T RS we Ffidm ARt fredn

(2) T T g i TR s i AR faed

(3) TRFW W TR AR ws Fgf it feda

(4) Peege s T 3% AT We Ny Wk fredq

How many VRC are there in India ? |
WRa | A [aad $ (A, o o) et ¥ 7

(1) 17 (2) 18 (3) 19 @20

Which year Carl Wernickes discovered brain area related to language functions ?
et afad 3w w A e wftes Sy R we R i T H 7

(1) 1861 (2) 1875 (3) 1881 (4) 1895

(23) (Turn Over)
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33.

56.

57,

Which year was Bal Bhawan Society established under Registration Act ot
Government of India ?

mmmﬁﬁmmmmuﬁmﬂ%mﬁmaﬁﬁwﬂa
e mn 7

(1) 1952 (2) 1955 (3) 1950 (4) 1954
PIED stands for

(1) Plan of Integrated Education for Down Syndrome
(2) Programme of Inclusive Education for Disabled

(3) Project of Integrated Education for Disabled

(4) Project of Inclusive Education for Down Syndrome
R, o § Ao wawd ? ?

(1) o 3% S g w5 R

(2) T A6 I TR BR —

(3) sriw 3% FHIE gHEE wR s

(@) e ot R Ty e g

D.PE.P. was launched in
4, i, £, &, yow T ™

(1) 1994 (2) 1993 (3) 1992 (4) 1995

(24) {Contintied:
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18P1247123 (1)

UNESCO came into being on

(1) 4th November, 1946 (2) 4th September, 1947
(1) 5thNovember, 1948 (4) 5th September, 1949
g T gt o

(1) 4 7a=r, 1946 (2) 4 R, 1947

(3) 5 7avam, 1948 (4) 5 famar, 1949

LINESCO Conference on Education of the Children with special needs was
held in——

(1) Tokvo (2) Beriin (3) Chaibasa (4) Salamanca
fafdry SHEH T Tt i Fren v sty e wrer g o

(1) et (2) =R (3) =riamn (4) T
R.C I is a Autonomous body under '

(1) MHRD (2) MSIE

(3) MHFW (4) MIEB

AN, W, 3, — F ety o gduife Ao 2

(1) W, &, AR & 2) W 3§

(3) W, T, Th T&Y, (4) WAL R,

Who is the present director of NCERT ?

(1) Dr.S.K.Paul (2) Dr. Hrushikesh Senapaty
(3) Dr.B.K.Tripathi (4) Dr.J.S.Rajput

W, d, % I A, & adue PRym A E 7

(1) 2% 1w\, %, 9fa (2) <. sf¥dw damfy

(3) =L A, &, fard (4) = . 7@, Toga

(25) (Turn Over;
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61.

63.

Which one is in correct order 2

(1) Disability, Handicap, Impairment
(2) Dlsability,lrnpainnmt,Handicap
(3) Impairment, Disability, Handicap
(4) Impairment, Handicap, Disability
fmidaammmmmng !

(1) egen, Ry, &t

(2) e, @f, Freamd

(3) =f, s, e

(4) of, Rreetina, sEma

Multiple Disabilities is discussed in the Act
(15 PWD Act

(2) NTAAct

(3), RCI Act

(4) Mental Healih Act

o R 1 R TR Fgat fmh R 7
(1) . gaeg, 9. W

2) BTG TR

(3) W H, WG W

(4) eH ¥E TR

(26)
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NIEMPD 1s located in

(1) Secundarabad (2) New Delhi
(3) Dehradun (4) Chennai
w, & @, . ¥, R}

(1) fowmem (2) = fegh
(3) ¥ (4) ==}

The Individualized Education Program ([EP) must be based specially on
{1, Recommendations of the teacher

{2) Services in the school

{3} Need of the students

{41 Suggestions given by parents

Fafere Mere wrderm (s £, 9,) i w9 @ fem w anuria 2 =i
(1) fam & wegfal =

(2) Fraww 3 ym & ®

(3) faenffai 6 srwmma w

(4) ftrarasi g 3 T gat W

The notion ‘change the environment to suit the child, not the child to suit the
environment' is related to

(1) Special Education (2) Integrated Education
(3) Segregation (4) Inclusive Education

‘FIATRN H AEH F JAER dGen 7 6 e H, IR FFHER &R 07
o e wefta & 7

(1) faftre fan (2) wuf=a fram
(3) guE (4) awa fhan

(:27) (Turn (ver}
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67,

6.

hY,

The term Inclusive Education came during the

(1) Jomtien Declaration (2) UN Decade Declaration
{3) UNESCAP Declaration {4) SALAMANCA Declaration
gareeh frem we fFg o A

(1) =mtea feaaitsm (2) g, . RBe fEasitm

(3) T o () SR Radte

in tirc Rights of Persons with Disability Act, 2016, nomenclature meniai
reiardation: is replaced by the term

(1} Menual iliness {2) intellectuai Disability

(3) Dwarfism (4) Autism

Pt arfire sfdfram 2016 (gcn % wdag fag femcfafada wr-2616) 4
g vrem wegraeh & i 0 & yRefa frmar g 7

(1) W sl (2) g svam

{j} d (zaih ) (4) weften

Etfective rehabilitation of a child with disability is possible with early
(1) Screening (2) Diagriosis

(3} Ideniification (4) #mssmem

e wTe SRR gaR mE A R AR

(1) shiffm 2) Fem

(3) 7™ (4) qeam

(28) (Continued
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70. Which of the following statement is carrect about Inclusion ?

71.

(1) Inciusion is not beneficial for students without special needs.
(2) Inclusion is for selected disabled children.
(3) Inclusion nicans welcoming ali.

{#) Inclusion means special need students join normai school after primary
classes.

AR T iR dd s o rmwh 2 ?

(1) fo sty ey a@t ordl & o araar et ft @
(2) TEAYA g4 T HEH T & o 2

(3) WA # 3Y Faw WA F k|

(4) mwﬁtﬁ&mmmﬂmﬁwmﬁmm%mm
frereral ¥ et €4

Which of the following condition is reiated with Trisomy-21 7
(1) Phenylketoneuria (PKU) (2) Klinefelter Syndrome
(3) Down's Syndrome (4) Tumer Syndrome

P & & 9 4 R grdeinii-21 @ vt @ 2 |

(1) i (A% g)  (2) el g
(3) s firgm (4) oh fgm

(29) (Turn Over)
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7S.  The total communication approach focuses on using

76.

(1} Oral and Auditory approaches only

(2) Signlanguage only

(3) Speech therapy only

(4) The students preferred mode of communication
A T SO R AT W e w1 A ¥R M 7
(1) Fa= M+ w3 yam g 91

(2) ¥ dha W W

(3) ami fRdt w

(4) faremff gro g7 ¥ el & alei w

Which of the following is not Intelligence Test ?

(1) Bayley Scales of Infant Development

(2) Koh's Block Design Test

(3) WISC

(4) CM. Bhatial—P_erfnnnance Tests of Intelligence
P d @ o a qfy whau i} 7

(1) ¥ vy e = Wewi=

(2) = = fow 3w

(3) 5, ok, wm, .

(4) . W, TiM WA T2 AE e |

(31) (Turn Cver)
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72. The visual cortex is located in the ——[obe of the brain.

(1) Temporal (2) Frontal
(3) Parietal | (4) Occipital
7@ e A % g vym f Ra dm g ?

(1) TRa (2) ®=H
(3) e @) it

73, Telecoil is useful for which category of special need children ?
(1) Hearinglmpaiment - (2) Visual Impaimment
(3) Mental Retardation (4) Autism
ﬁﬁmmﬁ!ﬁmaﬁlﬁm aoft % R} efiiae anigs & 7
(1) ¥aw s (2) 7@ stprn
(3) W = (4) wfon

74. Autismis not characterized by which of the following impairments ?
(1) Patterns of behaviour (2) Communication
(3) Social interaction (4) Visual deficiency
fra 4 & 2R o aft ool f Rdwm i adi @ 7
(1) e & il (2) weym
(3) wwie s (4) 7@ &f

(30) (Continue:/y



18P247123 (1)

7.

78.

In Ataxia which area of brain is affected ?
{1} Motor Cortex (2) Basal Ganglia
(3) Pyramidicai Tracts i4) Cerebeilum

@fﬁmﬁmmaﬂqmﬁmﬁmi?

(i) A HTEE (2) aue A=fern

(3) i {He (4)

W;hich statement is not true ? |

(1) Self care skills lead to greater independence 1n children.

(2} Self care skills are learned behaviour.

3y Itis :h{; responsibility of teachers only to teach self care skill to childrer

(4) Fating and dressing are seif carc skills.

A AR R W TR AR

(1) _Wﬁmwﬁﬁaﬁmmmﬁﬁ{m 2
(2) e P de g = )

{3}-%#&&@&@%@%%%%@%%%1

) G, FIS GE IR, TEREII FEE 2 |

(32) (Continiicd
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81. Which one is not the characteristic of Dyslexia ?
(1) Mirror writing
(2) Get easily distracted
(3) Read word backwards
(4) Confuse between left and right while reading
i & A A D R $ e @ 2 7
(1) oo o
(2) s & 3R &
(3) el 0D ) TWE W T
(4) ver g e oA # orw e W aM
82. Which factor least affects the Auditory training process ?
(1) Selection of Hearing Aid
(2) Shape of Cochlea
(3) Parents involvement
(4) Commitment of professionals
By % & B W O Fa0-RE SR S TR TR e w7
(1) &&9 93 = g9E
(2) ST 1 AR
(3) orfirsraent it smfterd
(4) Wad 6 g

(34) ; (Continued
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A defect in the outer or middle car produces which type of hearing loss ?
(1) Mixed hearing loss

(2) Conductive hearing loss

(3) Sensori-neural hearing loss

(4) Central hearing loss |

g A W o 99 arelt TR e TR § FEv g R I w2
(1) Fafde saor g

(2) =i (Fefaes) v g

(3) wIAL Fv ¥

(4) FZm saw gm

Echolalia is a condition

(1) When individual voice may be either high or low

(2) The person mimics the speech of others

(3) Inability to speak

(4) Lack of fluency in speaking

wrifern o feufa

(1) a =afts 3 smara 0 @ aga et a1 Aish gt }

(2) a =afts gwt i Ao B FHa Fan d

(3) dren H g

(4) AR F varg § wh

(33) (Turn (he
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83. Insocial model of Disability

84.

(1) The structure within society is the problem
(?) The impairment is the problem
(3) Impairment and society both are problem

(4) Disabled people are passive receivers of services aimed at management
of impairment

rerar % g whowe 8§
(1) v F ae § @ aoen 2 R
(2) e § wwwn

(3) &9 U§ T A BRI R
(4) em =qfh A Yail & Sy ywwal 93§ gl R S R a N ad

Prosthetics are
(1) Artificial substitute for a lost body part
(2) Walking aids

(3) :Same as orthotics

(4) Communicationaids

srefera 2

(1) T8 TR F 3 e

(2) oS qEE annft

() e %A

(4) uoieY BEEs W

(35) (Turn Over)
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85. Plus curriculum is basically used for

86.

(1) Alispecial need children (2) Gifted children
(3) Autistic children (4) Visually impaired children

TS TIFHA 06 &9 @ ST H o e 2

(1) it fafire wveri % Ry (2) showrreh T & firg
(3) sni¥fees s % fag (4) gt it arei & forg
Enrichment programmes are useful for

(I}I Slow learners (2) Gifted children

(3) Handicapped children (4) Deprived children
wyfyFd widshn It B §

(1) 5= sdmat & fom (2) vfwmam == & R
(3) Fawrin @it 3 forg (4) afia w=ii & Ry |

. Which of the following is highest ievei of cognitive abilities ?

(1) Analysing (2) Evaluating
(3) Knowing | (4) Understanding
i i & mor e H s T R @ R ?

(1) faerm s (2) TexiEA FHE

(3) S (4) ‘@

(36) {Continued
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38. Which of the following statement is not related to '‘Concept Attaimiiient

89,

Maodel

(1) This model is based on the work of J. S. Bruner.
(2} Inpractice, this model works as an inductive model,

(3) I practice, this model works as a deductive model, designed to 1euh
concept.

(4) This model facilitates conceptual learning.

Frerterfiaa fon T %t 3 9% w R ‘Hvega Wi Afee (Coucept Attainment
Model) & wraftra 78 2

(1} 7% §fee 3, T8 §T + ) 7 Anarfra ¢

(2) sne ¥, 9% wiew SwwTeE aies 3w we )

(3) 3w 3, 7% uiw Hyer ) R ¥g Prrrrers sle a1 w9 w8 -
(4) @ ufew dye % it # gRnes v

Which of the following is not correct for 'Branching Programming' ?

{.1 ) Remedial instruction follows the incorrect responses.

(2) Propagator of this programming was N. A, Crowder.

(3) Response mode is based on selection from the multiple choices.

(4) Most suitable for knowledge level objectives like 'Linear Programming',
‘figa stnfi’ (Branching Programming) ¥ wwift 37 a1 wuw 3yt 2 ¢

(1) & s & gfeqel sfea & o Figem s sk )

(2) v i & wfadree @, O R (N, A, Crowder) # |

(3) w Ymfm & e w0 w8, Tgfieedl F A g woanaRa @ |

{4) @i sfim’ (Linear Programming) ) otx, @y ot yemews @ & 3iw
& s

(37) { Turn  hvers
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90. Which one is right set of modes of non-verbal communication ?
{1) Facial expression, agreement, body language, symbolic code language
(2) Symbolic code language, Tele-conferencing, body language
{3) Symbolic code language, &dy language, facial expression
(4) Voice-mail, Tele-conferencing, body language
fire R e 3§ 9w A feF W @ @t 2
(1) 3ga H Afireafs, wweha, Wi o, TiwE S
(2) WV e W, deil-wigim, i o
(3) weteme ey, wdfes wmw, w6 et
(4) drga-im, TR-iHTa, TORS W

91. Which of the following is not an example of semantic or language barrier of
communication ?

(1) Information overload (2) Variety of meaning

(3) Specialist's language  (4) Unclarified assumptions
ﬁmﬁﬁqwazraﬂﬁﬁa_mmﬁwawmm uTeTd =i T R 2
(1) gansd = i (2) st i frfeean

(3) " ferirdigpe s (4) SRE ST

(38) (Continucs
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Read statements pertaining o 'Basic Teachin 2 Model'. Identify wrong statement.
(1) This model was developed by Robert Glaser (1962).

i2) In this teaching model, entire teaching process is divided into four
components.

(3) The order of components are : Entering Behaviour, Instructional Objes-
tives, Instructional Procedures and Performance Assessment.

(4)  The order of components are : Instructional Objectives, Entering Behaviour,
Instructional Procedures and Performance Assessment.

Terya Rraor niger’ (Basic Teaching Model) & weifr w9 1 9o & wig, T
R R F ) ofiem SR

(1) @ Wiget F1 Bm Taé e (Robert Glaser) (1962) 3 fimn o1 |
(2) 7@ foraw gigea i Tl e WBRaT Y aR wew § fanf f mar

i}) WA W HE W@ YW & garn R, (Entering Behaviour) stiemrers
e, FLIHIENS SR, ot WESR e

(4) T 1550 T8 I Y : SIS Iew, SR R (Entering Behaviour),
e Wi, 3tk ve w1 e

Select the wrong statement regarding 'Advance Organizer Model',

(1) This model belongs to the information processing family of models.
(2) This model is based on the work of David Ausubel,
(3) Inpractice, this model works as a deductive model.

(4) Credit goes to Hilda Taba to develop this model who had interest of
developing deductive mental process of students.

"TEEH ARG Hise (Advance Organizer Model) & awifia 3 @ w5 Ffeqii 2

(1) TrwisH ared ¥ ‘Higel & go0 B9 9Rar’ (information processing family)
¥ gEftE R

(2) % wieet 3T 3gaw (David Ausubel) % Frl o amaria 2 )

(3) orme H, 9% vied P aies Sm o s d

(4) e 4 3@ ueel % Rwmw w1 39, fes zan (Hilda Taba) 3 2 9 it
¥ e wrfe vfen ¥ e § w=ht wd o

(39) (Thrn Over)
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v4.

95,

L.

Programmed learning does not consist of characteristic like

(1} Using the principles of operant conditioning and schedules of reinforc:
ment,

(2) Provision for continuous evaluation.
i3) Notion of criterion-referenced testing.
(4) Notion of norm-referenced testing.

sifieig SR (Programmed learning) Pt # 9 & R = s v
N 7 2

(1) &m-ﬁwaﬁm#mwuﬁﬁmﬂ%ﬁ%mmmﬁf%e
(2) e i Rt il &

(3) Trrs-wehta whym R frgidl w s |

4 T - dzffa wlam 6 Rrgml woanyid |

Who said that Philosophy is the science of knowledge ?
(1) Aristotle (2) John Dewey
{3) Herbart Spencer (4) Fichte |
oy e 1 fres 3, RO

(1) =04 (2) =it g

(3) T T | (4 f
Struggle for existence theory was given by

(1) Lamarck ' {2) Darwin

{3) Watson (4) Bernard Show
st ¥ fore oot =1 R —— gro fan g

(1) & (2) =i

(3) e (4) sz o

(40} ((ontiiind:
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97, Which book is not written by Rousseaun ?

98.

99,

(1) TheLaws (2) Confessions
(3) Emile 1 (4) Social Contract
eﬁ!aﬁﬂgﬁﬂiﬂﬂﬁmfﬁmﬂﬂt T

1) d&w (2) =hvw

(3) wher (4) ¥ wgwe
In which State of India, Wardha Ashram was established ?
{1) West Bengal (2) Maharashtra
(3) Gujarat (4) Madhya Pradesh
wrea % frm e § vt s wnfia d 7 |

(1) vivam @ (2) wemg

(3) T (4) weasem
NDCCD stands of

(1) National Discrimination Core for Children with Severe Disabilities

"(2) Nations Development Centre of Children with multiple Disabilities

(3) National Dissemination Centre for Children with Disabilities
(4) . Narendra Deo Centre for Child Development

@, 9. . ®. A, w7 e ) S
(1) e PeaRefirm o or fReds Ry i g

(2) IeY Jaege A AT Rieda g wfees RodRfedia

(3) e fafnm = wn foeda g Redfifde

(4) % 39 ¥ BN TS e

(41) : (Turn Over)
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160.

101

The fundamental objective of remedial teaching for special chiidren in all its
form is

(1) Tomake them self dependent.

(2) 'Tomake them physically healthy.

(3) Tomake them able to adjust with their environment in best possible way.
(4) 'Tomake them emotionally well adjusted.

fiufirg arel & @l % Fift 3T AW F1 WE9 TR 39 0 9, g I
el ¢%d Bl

(1) R amenfeft @ e
(2) i w9 | WY T
(3) T % §v A w9 AR SEENE e A S

{4) ﬁ'&ﬂm#ﬂﬂﬂgﬁﬂm

Where was Artificial Limb Manufacturing Corporation established ?
(1) Kaimur (2) Kanpur
(3) Coimbatore (4) Kolkata

Fhm am fmfw frm o wrfila R ma ?

(1) R (2) FAQCH
(3) TEEH (4) SraFm i

(42} (Continued)
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102. Assistive Listening Devices are instruments for ——
(1) -Mental Retardation (2) Hearing Impaired Children
(3) Cerebral Palsy (4) Autistic Children
A TERIF 49 ——— ¥ U IqH0T R |
(1) =R we ' (2) i 7=
(3) wfcrss gamm™ (4) @& 9=
103. Which of the following 1s not called Speech deficiency ?
(1) Articulation disorder (2) Voice disorder
{3) Fluency disorder (4) Communication s
B & @ qwit st G 78 w0 amen ¥ 7
(1) v 3 (2) e A
(3) e A (4) e

104. How many chapters arethercinNnﬁpnanmstAct, 19997
e = sffrm, 1999 # 3ol s § 7

(1 7 2) 8 @9 - 4) 10

(43) (Turn Over)
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SECTION—I
OR

ENGLASH

Note : Attermipt ail the 16 questions in this Section, if you do not opt for
Section-II on Hindi Language Comprehensior.
Four alternatives are given as possible answer (¢ cach question {1
the correct choice as an answer.

Dircetions (Q. Nos. 105-109) : Read the following passage carcfully and answe
the guestions based on it

Now the question arises, wiiat is ihe secret of the longevity and im perit.-habsé'.t*'
of Indian culture 7 Why is it that such great crmpires and nattons as Babyl.
Assyria, Greece, Rome and Persia, could not last more than the footprints o1 3
samne! on the shifting sands of the desert, while India which faced the same ups
and downs, the same mighty and cruel hand of time, is still alive and with the
same halo of glory and splendor 7 The answer is given by Prof. 1. B. Pratt of
America. According to hita Hindu religion is the only religion in the world
which is ‘self-perpetuating and self-renewing’. Unlike other religions 'not death,
but development' has been the tate of Hinduism. Not only Hindu religios but
the whole culture of the Hindus kas been growing, changing and developing
accordance with the needs of time and circumstance without Josing its essen-
tial and imperishable spirit. The culture of the Vedic ages, of the ages of the
" Upanishads, the philesophical systems, the Mahabharata, the Smiritis, the
Puranas, the commentators, the medieval saints and of the age of the moders:
reformers is the same in Spirit and yet very different in form. Iz basic prin-
ciples are so broad based that they can be adapted to almast any environment of
. development,

iﬁﬁ. ‘The author has compared India with all the following except
(1) Greece (2) Rome (3) Babylon (4) Egypt

(44) (Cortinted:
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106. Tn what respect is India implied to be superior to all other nations and empires 7
(1) Material development (2) Cultural advancement
(3) Military strength (4) Territorial expansion

107. What, according to J. B. Pratt, is the secret of the longevity and imperishability
of Indian culture ?

(1) Ithas its origin in the remote past

(2) Itissues from the minds and hearts of its sages - -
(3} ltisself-perpetuating and self-renewing

{4)" Ttis founded on religion

108. Which of the following has not been mentioned as a particular period of
Indian culture ?

(1) The Vedic age (2) Theage of Upanishads
(3) The age of the Mahabharata (4) The British period
109. What according to the author has always characterized the Hindu religion ?
(1) Development
(2) Stagnation
(3) Sometimes development and sometimes stagnation

(4) Lack of moral values

(45) (Turn Over
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Directions (Q. Nos. 110-112) : Select the word similar in meaning to the given
word :

110, Anguish

(1) Sorrow (2) Angry (3) Annoyed (4) Aggressive
111. Bold

(1) Loud (2) Big (3) Irritated (4) Fearless
112. Caricaturc

(1) Cage (2) Cartoon (3) Imprison (4) Capture

Directions (Q. Nos. 113-115) : Select the word opposite in meaning to the given

word :
113. Approximately
(1) Nearly 2) Closely {3.:} IExacﬂy (4) Opposite
114. Changeable | |

(1) Moving (2) Frequent (3) Regular (4) Constant
115. Moderate

(1) Extreme (2) Medium (3) Middle (4) Left

(46) {Continucd
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Directions (Q. Nos. 116-118) : Fill in the blanks with correct option :

116. While reading is a leisure activity for ———- people, there are millions of
Americans who still cannot read,

(1) millions (2) countless

(3) that number of M) a
[17. I'love to tell you about my father, of you must have heard,
(1) whom @) it (3) which (4) all

118. Jack bought a book covered all kinds of subjects,

(1) who (2) and (3) what (4) that

Directions (Q. Nos. 119-120) ; Identify the grammatical category of the bold word :

119. 1t has been ambitious and plucky of me to attempt to describe what is indes-
cribable

(1) Adjective (2) Verb (3) Noun (4) Adverb
120. I'have discharged my duty to my society.

(1) Auxiliary (2) Determiner

(3) Concrete noun (4) Transitive verb

(47) (Turn Over)
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SECTION—II
gug—I1
OR ( 3w )

=t

ﬁiﬂ:ﬂﬁmﬁﬂ%-—llﬁf&ﬁﬁﬁm%umﬁﬁﬂmi%mnéiharg%,ﬁt I0

a3 % Rt vy @ weitn al 16 vt & I T

Erffaa vt (1), (2), G) 70 (4) i T aR-an A T nd 3

2 3 s TA 2 1 e wh I A I

121.%%%@%%8?

(1) iz (2) wifes
(3) AfRS (4) =h-fese
122. ‘WM'ﬁﬁfﬁf{ﬁﬁﬁﬁﬁmﬂmﬁﬂ%m% ?

() wepa (2) B (3) weht
123, F8 A A o dveh oEd R A Al R 7

(1) whast @) wwwm (3) @
124, @@ el frm o A RERa g R 7

(1) mer (2) onhmrd (3) or=h

(48

(4)

(4) F=A

(4) v

{Conitnued!
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125, = 5 ‘a’aﬁﬁnaﬂﬂimﬁm! 7

(1) 3+49 Q) F+9

(3) $+8 (4) $+¥

120. §9 8 g ft aren wez 2

M w2 3) oo @) gy
127. ‘Soga’ 1 o ai-Rredz &

(1) 39 + g7

(2) 39 + mw

(3) ¥ + \EwW 4) =g +am
128. ' A e wi p o
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